ENAR AVMU ELECTRIC POKER UNIT ONLY 115V 296101

103652

® o
‘ 103775

i 103804
E 103654

ARTICLE QUANTITY DESCRIPTION

1 96101C 1 HOUSING ASSEMBLY

2 - 2 (LOGO ENAE
95X95MM)

3 102201 10 LOCK NUT M5 DIN
986

5 102106 10 FLAT WASHER 5 DIN
125

6 96106 1 SPACER

7 101160 2 BEARING 6003 2Z

8 96105 1 CONNECTION
BEARNING SUPPORT

9 96108 1 DRIVE DOG

10 102103 1 STARWASHER 4, 3 A
DIN 6798

11 103812 1 RING TERMINAL 1.5
M4

12 107236 1 EARTH PLATE

13 102702 1 BOLT M 4X6 DIN 7985

14 96211 1 SUPPORT BELT

15 96102 1 BAFFLE




17 102502 2 SELF-TAPPING
SCREW 3,5X16 DIN
7982

18 96141 1 CABLE CLAMP

19 126027 1 ROTOR 115V

20 126025 1 STATOR 115V

21 102310 1 ALLEN BOLT M5X40
DIN 912 8.8

22 107228 1 SAFETY STICKER

23 103933 1 SWITCH ASSEMBLY

24 107087 2 CLOSING PLUG GPN
320 GL25

25 102311 4 ALLEN BOLT M 5X80
DIN 912 8.8

26 103652 2 BRUSH RETAINER

26 103775 2 BRUSH RETAINER

26 103790 2 BRUSH RETAINER
M16X1

27 103654 2 BRUSH 115V

27 103804 2 BRUSH 115V

29 102307 5 ALLEN BOLT M 5X25
DIN 912 8.8

36 96118 1 FILTER

37 96117 1 FILTER COVER




